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6 1652 FLIU F0#E (3) 2 EAREE 4,21.37 1 2
7 1650 #5111 BEA (3) B EAREE 4,23.98 2 5
8 1653k E &3 (3) (S5 EAREE 4,24.02 2 6
9 2788 #h)Il Bt (2) =1 LFHA 4,25.02 2 7
10 1658 && & (1) = EARE 4,30. 67 2 8
11 1644 #E £5(2) [SL EARE 4, 32.01 1 3
12 2789 L E ZF(2) =2’ EHA 4 33.71 1 4
13 1655/ EA (1) 2’ EAREE 4, 36.98 15
14 1766 /MFE 1B (2) 2 tH 4, 39. 43 1 6
15 2190 mF BE=() B EFHA 4,41.98 2 9
16 218748 #M1E(2) S5 EFHA 4,46.96 1 7
17 178128 & (2) =1 A 4,49.68 2 110
18 1787 #a#%t B4E() (=L +H 4,50.25 1 8
19 1521 \#FHi#E K#h (1) = iR 4,53.17 1 9
20 1524 ;F BEft (1) =2’ 8R4 4, 55,69 2 | 11
21 1788 RkE FE (1) [SL +H 4,58.73 110
22 1522 tEEF GEXR ) (S iR 5,46.75 1 11
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5000m

BE5#H 13, 45. 23
KEH 14,57.89
R B
] No. K 4 TR4 R EE
1 12 1656 &K fE (1) =15 15,18. 66
% vy EARE
2 19 1652 F1L FO#E (3) =15 15, 23. 65
Y HAF EARE
3 13| 1649 48 BEMH (3) = 15,29. 48
Y44 T 39Ah EARE
4 15 1659\ &R #K (1) IS5 15,45. 14
v b4 EARE
5 9/ 1906 HF K (1) =R 15,45.16
7YY 5 4AF EFHA
6 2| 1650 714 FEAN (3) =15 15, 48. 04
NI YHb EARE
7 7 1660 1L =FEFE (1) I= 16, 03.17
AT 9% EARE
8 5 1644 ¥E £5(2) IS5 16,12.08
Y3 8y EARE
9 17 1653|7)k E &3 (3) B 16,17.47
I3 H3 19b EARE
10 16 2788 #h1l &5t (2) =15 16, 26. 39
WD MY LA
11 1 1655):a8 EA() =8 16,47. 14
k9 knp EARE
12 200 1658 {&&E &t (1) IS5 16, 58.72
w7 MoF EARE
13 11 2187 4t & #]1E (2) =15 17, 30. 82
49" ¥a97° EFHA
14 3 1719 & J|E(2) =15 17,36.72
ant v +H
15 140 1787 #¥3%F B4 (1) =153 18,17.90
¥YAT 19%H +H
4 1642 KiE it (2) =
7 M EARE Ri5
6 1643 /MK 1= (2) =15
N vy pdb EARE Ri5
8 1651 HE HEEAQ) =1
£/ yny EARE Ri5
100 1907 #:2 27 (1) =
sV oy :: i) Ri5
18 1641 A J(2) IS5
¥4 EAb EARE Ri5

[RBE

58178

13:10 |




FISTERESREBTAR

B bR

REERZ—ER
(GR: K=%7) 5 F [#H35] 202060 (A A#EES) S EREEFRRIS
145 241 3L 44 5 i 6 fiL 7L 8 {iL
H/H # B 3 FiE FiE FiE B = FiE i0 FiE i B EKASFRE HollE 4
05/16 EPfé Eﬁﬂ%ﬂ) 1,59. 70 ﬁﬁﬁ B’a‘ﬁ(S) 2,05. 65 7KJ: {E—J—(S) 2,08. 92 *E% mEE(Z) 2,15. 70 Jﬁ 7(5 (2) 2,16. 99 :FEIJ.I B*A(S) 2,17. 83 #’EH 7(*1](2) 2,19.40
800m ER-EARE aR-EARE ER-EARE aR-EARE R EARE R IEARE =i & < SERE
05/15 Bk finEd) 4,12. 93|48 5 (3) 4,14, 74| KR HK A1) 4,17.40 LA = (1) 4,18.67 3Ll =8 () 4,19. 25 L1 F0#E (3) 4,21.37 71U BEA Q) 4,23.98 kLt E3 Q) 4,24.02
1500m R EARE aR-EARE R EARE R EARE R IEARE R EARE R EARE e -EARE
05/17 Bk finEd) 15, 18. 66 #LIL F1#E (3) 15, 23. 65 & (3) 15,29. 48 A #K (1) 15,4514 HH K (1) 15,45.16 #E1L FEA (3) 15,48.04 L1l =#E (1) 16,03.17 ¥85F 2K£(2) 16,12.08
5000m R EARE aER-EARE R EARE R EARE =ik LB R EARE R EARE e -EARE
05/17 8%t EARE EFH AFIEFEE LHTE INGE iR @
136 114 79 72.5 68.5 51.5 49 42
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